
Addition and Subtraction

Exercise



1. Fill in the blanks :

(i) The numbers to be added are called ________ .

(ii) The result obtained after adding is called ________ .

(iii) 41527 + 0 = ________ .

(iv) 13240 + 1751 = ________ .



2. Add :

T-Th  Th  H   T   O 

(i)      7     3    2   5    4 

+          1    2   1    2

+   1      3    2   1    2

(ii)     2   3   3   2   4

+  3   1   2   3   0

+  1    2   1   1  2



2. Add :

(iii) 2   3  1  0  5

+  1   3  2  5  0

+  3   1  6  3  2

(iv)     2  3  4  1  2

+ 3  1  2  3  3   

+ 1  2  1  1  2



2. Add :

(i) 2   4  6  8  2

+   5   4  3  2  1

+   2   4  3  2  1

(ii)      2  5  7  8  2

+  7  2  3  5  9   

+  3  2  2  4  4



(iii) 3   2  5  7  3  7

+   1   2  4  6  8  3

+   2   4  5  0  0  7

(iv)     2  5  6  7  8   9

+  2  8  3   2  4  6

+  5  4  3   2  1  0



3. Fill in the blanks to make the statements true :

1. 26572 + 27873 = 27873 + ……………

2. 307899 + …………… = 307899

3. 24573 + 12780 + 11992 = 12780 + 24573 + ……………

4. 45325 + 23719 = 45325 + …………… 

5. 0 + …………… = 245792

6. 317 + 32578 + 124679 = 32578 + …………… + 124679

7. 82881 + 71991 = 71991 + ……………



4. In a godown, there are 23578 bags of rice, 45326 bags  

of wheat and 2569 bags of sugar. Find the total number 

of bags in that go down.

5.  A factory produced 42567 toys in January, 25789 toys 

in  

February, 22578 toys in March. How many toys did it  

produce in three months ?



6.   A company made 142921 trucks and 52781 scooters in one  

year. How many number of vehicles were made altogether in 

that year ? 

7. A man purchased a house for ₹ 624598. He sold it for 

₹ 100000 more than what he had paid. At what price he

sold the house ?



8.There are 292598 men, 262942 women, and 321251  

children in a city. Find the population of that city  

9. In a school library, there are 32592 English books,   

48544 Hindi books and 25928 books of other languages.  

How many total books are there in the library ?



10. A company purchased a car for ₹ 230590 and a van for 

₹ 210580. How much money did the company spend on 

these vehicles ?



11. Fill in the blanks :

(i) The greater number in subtraction is called ________ .

(ii) The smaller number in subtraction is called ________ .

(iii) Minuend – ________ = Difference.



12. Subtract the following :

(i)  38657 – 24325

(ii) 23578 – 12422

(iii) 24895 – 20044

(iv) 834594 – 323453 



13. Subtract the following :

(v) 25723 – 14412 

(vi) 456794 – 325324

(vii) 78956 – 34515 

(viii) 785489 – 342356 

(ix) 957528 – 743417

(x) 875690 – 324210



14. Match the following :

Column A Column B

(i) 84345 – 45897 (a) 2206

(ii) 2454 – 248 (b) 62210

(iii) 146762 – 84529 (c) 38448

(iv) 245892 – 183682 (d) 62233



15. Subtract the following :

(i) 6 7 5 4 3 8 (ii) 5 4 3 8 2 9

–2 3 4 2 8 9                                  – 2 3 5 2 9 2

(iii) 5 7 4 3 8 2 (iv)    7 8 2 9 5 4

– 2 4 0 5 9 – 2 4 8 9 3 9



16. Subtract the following :

(i) 40588 – 31944 

(ii) 894532 – 52466 

(iii) 246802 – 129468

(iv) 230494 – 151247 

(v) 254329 – 244965 

(vi) 405090 – 295468



17. What must be added to 257125 to get 400000 ?

18.Subtract the sum of 40256 and 21512 from 211542.

19. Two candidates contested for election. 567719 votes  

were polled in all.

If one of them got 325247 votes, find the number of  

votes polled in favour of the second candidate.



20.A shopkeeper had 245325 kg of sugar. He sold out      

84526 kg and 85943 kg sugar in two days. How much 

sugar was left in the stock after the sales in the two days ?

21. Subtract the sum of 89251 and 24589 from 150000

22.What must be added in 24589 to get 55555 ?



23.  The population of a town is 75492. If 40548 are males, find  

the no. of females in that town.



24. The population of a town is 95698. There are 32840 men

and 30580 women. The remaining are children. How many  

children are there in the town ? 

25.The population of a city is 362105. Out of them, 146368 are     

men, 127858 are women and the remaining are children.   

Find the number of children in the city.



26.A man invested ₹2565950 in a business for two years. In the 

first year, he got a profit of ₹520785.

In the second year, he faced a loss of ₹95000. Find the net

amount he will get at the end of second year.  



27. On the first day of a cricket match, there was a crowd of   

70500 people at the stadium. There was a less crowd of  

28680 people on the second day of the match.

But, there was a more crowd of 35975 people on the third   

day of the match than the first day. Find the difference 

between the numbers of people on the second and third day 

of the matches.



28. Choose the correct option. (MCQs)

(i)  When 0 is added to a number, the sum is

(a) 0 (b) 1 (b) the number itself

(ii)  On subtracting 2 tens from 2 hundreds, the difference is

(a) 18 tens (b) 1 ten 8 ones (b) Both (a) and (b) 

(iii)  Which of the following is the result, when a number is  

subtracted from itself ?

(a) 0 (b) 1 (b) The number itself



29. Find the sum :

(i) 23123, 11001 and 21302 

(ii) 32101, 12301 and 1032

(iii) 21031, 12301 and 32211 

(iv) 301242, 123310 and 10002

(v) 21003, 12346 and 21220



30. Add together :

(i) 125793 and 246725

(ii) 235789 and 426728

(iii) 327848 and 848327 

(iv) 243157, 256311 and 540650

(v) 125793, 120530 and 42029

(vi) 246789, 279874 and 200009



31. Fill in the blanks to make the statements true :

(i) 32742 + 25732 + 12724 = 25732 + 12724 + ……………

(ii) …………… + 24678 + 3253 = 24678 + …………… + 2468

(iii) 11220 + …………… + 1244 = 1244 + …………… + 3452



32. Find the difference between :

(i) 58764 and 43254 

(ii) 895943 and 672323

(iii) 98548 and 43225

(iv) 792593 and 52462 

(v) 75685 and 43423

(vi) 859723 and 645612



33. Fill in the blanks by inserting correct digits 

:

(i) 2     1     .      5     .     3

9     5     6     8     .

.      8     0     3     7     6 

6     .      5     6  

1  0  9     3     3     2     2      

(ii)      .      2      .      .      .      7

- 1     .       .      1     7     . 

1     8     8      8     8    3



34. In an election, four candidates got 125798, 75748, 112345 

and 27589 votes respectively. Find the total number of 

votes polled for the four candidates

35. Three ropes are 25928 meters, 32596 meters and 40008   

meters in length respectively. What is the total length of 

these ropes ?



36. In an examination, 85928 candidates passed while 55890  

candidates declared failed. How many total number of 

candidates were appeared in the examination ?



37. Ravi earned  ₹159544. Out of this, he spent ₹150560 on the  

repair of house. How much money is left with him after 

paying for the repairs ?

38. A factory manufactured 75740 toys in one week. It sent  

25950 toys in one market and 26590 toys in second 

market. How many toys are left in the factory ?



39. A scooter company produced 54584 scooters in the year 

2009 and 60255 scooters in the year 2010. Find the 

increase in production.

40. What is the difference between the greatest 6-digit number 

and 1 less than the smallest 7-digit number ?



41. What is the difference between the smallest 6-digit number 

and 9 ten-thousands more than the greatest 4-digit number ?


